ECONOMIC
] Paper -1 (Macro Economics)
Time allowed : Three hours Maximum Marks: 100
Part-A

Explain the following : Fr=iferRa 6t T PR

(a) Monetarists ﬂaﬁﬁl
(b) Savings are equal to investment. F= 54D aRER E |

(¢) Consumption function STHRT BT

(d) Business Cycle @R 9%
() Ex post and ex ante IRAfIE T4, ﬁ!:l‘rl%ﬁ

() Neo-classical Tq—aIRTDY |
(g) Growth ¥3f& (h) Pepreciation Y& ¥

(i) Fallacy of composition Y
(2) Aggregate and Total. §H Tq Gl N
“\ Part-B
Describe Green.aceouating. qah'\m‘hued ?ﬂ—ﬁh@]ﬂl at 31 99 R |
How rates of interestis determined in classical theory.
e Ry A/ B X PH =T B &7
Describe theobjective and subjective factors of consumption.
JUAN, D TS U AITO TeP! Pl Ui HRR |
What are the leakages in the circular flow of income?
& TR YAE @ REE PA-9E?
Suggest the differences between micro economics and macro eConomics.
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Part-C
Unit-1

" Macro.economics involves choice among alternative objectives
and their contradictions." Explain.

fte arfereR § Yo SeeEl & g T S i e
€1 e AR |
Or \:
Within the (a) initial equilibrium classical model trace the €ffect of (b)
changes is money supply by 10 percent (c) technological progress and
(d) the aggregate setting of wage rate above the,competitive level. -
FARD (a) VRIS Hger fr‘rsa%r(b)garq\ﬁﬁr 103 aRaer (c) Tb-Ticht
T TF (d) WioRTET R A A Aoy R $ AR F A0 BRI |
Unit-II
Describe different theories of constufiption function. How do these

explain the contradiction between short term and long term
consumption functions? .

SUAR e | TR AR RRgI o1 Soora PR 1 seqareiA
Tq UBRIM SRR el aSaiaxiy B BY YHe B 57
R :

i) "Investmen} determines saving in Keynesian model”. Explain.
“Hraare Hisend e 9 o NuiRa a9 $ 1 e S|

(i) Explain.various determinants of .investment and meaning of
miarginal efficiency of capital.

e v Rt FeRel 61 =ren SRR W O H Sar
RUCKIT B 3 WA |
Unit-1III '
Describe the samuelson and Hicks multiplier-accelerator model of

"%\ business cycle. IR 9% & V-IUAET U9 Raq & T4 @XF B
I foran Higa @1 9o HRA | & i

Or
(a) Differentiate between and devel

_ \ opmeny. ..
<t T4 Ao ¥ o=~ SIRM | m‘[‘l%?‘?

(b) Describe Lewis model of economic growth;
I o e Hgfg Hiea 31 auH iR
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